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4 A K S £IT - 2000 1800 1800 1600 1500
B ||
1 BR EIT 1800 1500 1500 1300 1200
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i BEW E2 1400 1000 1000 800 700
8 BEV = =L 1400 1000 1000 800 700
9 R 2T 1400 1000 1000 800 700
10 B 2 ETT 1400 1000 1000 800 700
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12 KB H =70 1400 1000 1000 800 700
13 TR £t 1400 1000 1000 800 700
14 = =L 1400 1000 1000 800 700
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16 718 JLA TP =T, 1400 1000 1000 800 700
17 L& =TT 1400 1000 1000 800 700
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19 Vitkea £7T 1400 1000 1000 800 700
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22 SR = 1400 1000 1000 800 700
23 JLA Y £ 1400 1000 1000 800 700
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10 BT 48 4E =7 2000 1800 1800 1600 1400
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15 I H At RR TG 1850 1350 1350 1050 850
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28 SR 5B KR T 1200 900 900 800 700
29 R InF] [ in 1200 900 900 800 700
30 B T Y in 1200 900 900 800 700
31 FZLRT BK 75 1200 900 900 800 700
32 I L KX TC 1200 900 900 800 700
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34 AR KK T 1200 900 900 800 700
35 Bl /R 2 JE I i 1200 900 900 800 700
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41 BETET =h 1400 1100 1100 900 700
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45 RS B 7o i ET 1400 1100 1100 900 700
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29 ELAR =T 1400 1000 1000 800 700
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